el

iz =)

S

= i)

i

g E A | R 22 £ 11 A ERTTIE AUN 1:1, 000 | HHE=a—FK 22—-300 E O R 2 & M 4 X F OB K O #® X [H 23—1~23-—8 M o oE 28—26
7
E B %
S=1:200 - £ 1
RFHAIE B TEER -1 5@
S=1:200
15.1
3.6 L 27 1.8 0.7 6.0 03 A B
T T TT ol L=733m_W=15_0m~32 6m
200 150 200 ol
=]
X i
BHES BX& EREHCBR12%
& R REIEBEEHETRY t= S5cm
*D Hﬂ ET # B BEMAMETRY t= 5cm
LR HERBRE N30 t=10cm
TREESE BEYSvyYry—3 Y RON-40 t=15cm
BHERM 23—7+6 ~ 25—1+39
> Y= 57158 WIEE  FA2EE
X=-56878 (m) = 64 (m
EEEES23 | Y==97261 (m;
. HOR W B % #o o m
E: ™
N bl
FPNEKFITE
S b w— B 52 N R
‘ll 0, il il L~ % 542 56T —
* & —— [ ——E = F:mllho)l il
—_— - - P - - —_— 4 -
a® o - ®, ® ® . @ ® .
SEI . ! . nNE N A FT ET/ 1 54 ."”'Ess
= 54 ‘§| 54 [
(=) ! o o BIRATKT ERA Ml
SRR % g
#
RB L=4.0 W=19.7(6.5)
@ P )
B TH2EE KERSHSHBHIE L=469m(22-1)
BEREE W=6.0 or W=6.5
~ 0
BEEE B Le ,L%_ A
y iy - 3y Z o 09
TR L olh— (=) . olh @ D §
< < ~al™ o
B B FE é: é: é:




